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KT BUEARE, BE—INASIEN®?

Which thought is false in Agile?

A) EEIIEEES, WSARNSHFEAREE.
Business and development work together throughout the project.
B) NaRZECRETEEITE.
Responding to change is valued over following a plan.
C) ERRIEIEFINERKHEZFE— MUTEIL,
Satisfying the customer through exact fulfillment of their requirements is a priority.
D) AR EEHENEEINE.

Working software is the primary measure of progress.

2/40
RIEEEERFESTARRA (NIST) |, B—IRET oI ERNARRIHE?

According to the US National Institute of Standards and Technology (NIST), what is not an
essential cloud computing characteristic?

A) STHIMKIHAREE (broad network access)
Broad network access

B) &ERIREGTERZRSE (pay-per-use system)
Pay-per-use system

C) EEM (rapid elasticity)
Rapid elasticity

D) &Rt (resource pooling)
Resource pooling
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3/40
MDevOpsHIFEESRE, SE5RHFARNSHZBHEMFNENS, MAHNITEERESXNE
3, MiF=4DevOps,

HEFRE SIS B ZIEEL?

When looking at the emergence of DevOps, new ways of interacting between parties
involved in software development triggered a need for new ways of IT management. This
resulted in DevOps.

Which parties that found new ways to interact are meant?

A) RIFIER
Business and customers
B) ITERIIFIEF
IT departments and customers

C) ITHABBIIEHERR
IT Development and Operations

4/40
DevOpsfE R AR LK HEmA - RIRNFISEE, ITHH—MIREBRE ESHE (task

switching) “,
XMITIREEE MBS RERLIRTHR?

DevOps relies heavily on the principles and practices of Lean Production. One of the types
of waste in IT is 'task switching'.

From which original type of waste is this the translation for IT?

A) {E (motion)
Motion

B) i$E4%= (overproduction)
Overproduction

C) i= (transportation)
Transportation

D) &% (waiting)

Waiting
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IMERENEENEEERE = KBS,

X=KEEre —R—HA?
The most valuable information of a value stream map is taken from three key metrics.
What is one of these three key metrics?

A) EE5REIERTE (lead time)
Lead time combined with flow

B) TRESHERERSLL

Percentage complete and accurate

C) ShEERYIE) (process time) BRLARTERTE]

Process time divided by lead time
D) ZRAMNMERZEIRE:

Value completed minus waste

6/40
LR HTIDevOpsSEkRY, XITEHRATHREESIENN,

DevOpstHAZIX—TREASE, S8UE. ScrumiiEmAY AR ZARHA?
When switching to DevOps, a greater return on information technology is expected.

What differentiates DevOps from Agile, Scrum and Lean to meet this expectation?

A) DevOpsfliE T #rr=mflsl R RAEF & &0 JFIE4ER 1 EaI5T,
DevOps accelerates the delivery of new and modified products between Dev and Ops.

B) DevOpsiliE ¥ mmMizfIE (I #r - mil Rr-fm.
DevOps accelerates the delivery of new and modified products to the market and customers.

C) DevOpsHyfR{EFRESBEIA BRI EAEFIRIZE(L,

DevOps ensures a quicker response to changes in the infrastructure within budget.

D) DevOpsHfRE RN RSELNMERAIRAE .

DevOps ensures a quicker response to incidents that hinder the organization'’s value stream.
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—RKARRERT M EHRENSFEEEHAE. —RRTiRINIZE B TER 1XADevOpsTs

At 4B FADevOps B B T8/ LHRdiE)?

A company wants to reduce their time-to-market from years to months. One of their
coworkers says they should consider using DevOps methods in the IT department.

Why would changing to DevOps help reduce their time-to-market?

A) HE/IDevOpsiEF & EFIZHERBEREI— AT, ERAARZED
Because DevOps integrates Development and Operations into a single team, there are fewer
people employed

B) E/9DevOpsEBANIRAER, IINEIES, BERE-HRLT
Because DevOps teams are more expensive, they work more overtime and get a product on
the market quicker

C) E9DevOpsKABLERBHITIREI, FTLIE RGN AMZATRFEK
Because DevOps uses self-sufficient dedicated teams, there is more agility to deal with
changing product requirements

8/40
P EAGRS R ERERAA?

What are two common practices for reducing technical debt?

A) EXXENRMETELE
Formal change and release management practices
B) SMEIEIEKTTMER
Incident management and request fulfilment practices
C) EIFEMZIR
Increasing budget and resources
D) EFFIEMIERR
Refactoring and facing the issue
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9/40
DevOpsHELHR 7L EEEE?

Which significant advantage does DevOps bring to an organization?

A) BRI RSTRINEIS

Eliminate fragility of a business system
B) [FHEZEFRIRLA

Reduce cost for the customer
C) IEIICHkE

Reduce cultural challenges

10/ 40
DevOpsEHIHIA I RBIER—EED

DevOps[al& T B—SEEFRAIERR?
Sometimes, it is thought that DevOps is a part of Agile.

To which question, that has nothing to do with Agile, does DevOps give an answer?

A) AMAIERIE A FA TR RV A S IR E AR D ?
What can be done to release the software we develop quick enough to take a large market
share?

B) ATHEEIFNTHREFNER, NSEFELHTARRIXARYER?
What relationship with our customers is necessary, so that we understand their requirements
better?

C) WA eei RN ARRIIEHETSRERN N E THEIE?

What should be done with a released product to make it useful and easy to operate?
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11 /40
At A ER S FEDevOps RNt EE?

Why is the concept 'value stream' so important in DevOps?

A) MEREBTRIEEHFEZEMNINAEES.
The value stream helps coworkers to see and understand their daily tasks.
B) NMERBETOITIIRE (as-is map)H BB FHEBIFIVE IS,
The value stream helps to analyze the as-is map and any attempts to improve metrics.

C) IMERBEITIRMEA MM T B SRITIFES.

The value stream helps to identify when someone did their part of the work.
D) MMEmBETRItmAE LI RENLSE.
The value stream helps to realize a smooth and uniform flow through all process steps.

E) fMEREE TR T{ECi- LI EERIL L.

The value stream helps to realize local optimization in the current work practice.

12 /40
MERERSE—E 242

What is the first step in value stream mapping?

A) EIEFERIE

Create the requirements specification
B) ICREFAAITIE

Document the work done
C) MEMFEFRIKELE

Identify the key steps in the process

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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13 /40
IMEREFRE B MMERPAUESEAT.,

AT L2EZHIEMERE?
A value stream map shows clearly where the inefficiencies in a value stream are.

Why should a value stream map be made?

A) FEENMAISSRAZ
To help optimize business processes
B) EETIFABEIA

To see which people are not working hard enough

C) IntR7EHIGR (WIP)
To speed up the work in progress (WIP)
D) BMIZEERAF mEk I it
To visualize which product line should be ended

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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14/ 40
ESFTERNERARF. XMILTRHFER BN ERANCRIBATF.,

A LM R PR E RS | & ?

Tasks need to be prioritized. This prioritization takes place in the queue at the entry of the
value stream.

Why does this prioritization often cause problems?

A) AFEIXAND RIGRENMIT AR BatiTRESIEEE K., XFEAE, NMSHRE,
Because at this point, the decision is made how to build the deployment pipeline for the tasks
that can be automated. This takes time, which causes delays.

B) EAXMMERPRBIENEEAIAERSE, N5 IRIER.

Because enabling measurements of the key indicators in the value stream is done incorrectly
or inefficiently, which leads to problems.

C) EANTATFRAMESBIMATIMC TEUUKRESIGR (WIP) [REIANZEAXIERES.

Because implementation of the use of visualization tools along with work-in-progress limits
(WIP-limits), with which one can identify the bottlenecks of the tasks, is done incorrectly.

D) EAREIEIMERIIFEIRAFIIRA, LIRATHRREETIR, XHEEXENE,

Because the development of the as-is version and the to-be version of the stream must be
created, as well as a list of the changes required. This takes a lot of time.

E) BlntEsssE, ELFARZAIFREMEITEZRER, XESEAEAIEE,

Because when many decisions are made before work even starts, like in the traditional
approach, this causes massive delays.

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 12
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"BRE VK XM ELSRIRIRRTA?

Which idea is the origin of the concept 'deployment pipeline'?

A) TRIKEERERIAZ LR
A pipeline that carries a liquid creating flow
B) S FEAL
An assembly line such as a car plant
C) ERFTAKEAIMALLIERS
Modern processors that use parallel pipelining
D) ERZNEEERIES
The idea of using more than one assembly line
E) MBEARREFARTIFENIRE
The process of deploying people to do different jobs

=%IN
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16 / 40
LHERB KA IBRTR, £F), T RRNEARABREINERIREIESE.

XN AR RS EZR A A?

When implementing the deployment pipeline, problems are encountered. Initially, there are
not enough pre-developed tests to ensure steady operation of the Production
environment.

Which solution best addresses this problem?

A) BIEERKEARTEZIBIM, BETRMBEESUNZRIAESA.
Create the pipeline and as many automations as possible, but do not use them until all the
proper tests are in place.

B) EBIMUBRBER, WHIEARARSORRR T LARE,
Increase the coverage of the code with tests as technical debt, which must be addressed as
soon as possible.

O) iERK&ESHENNE—EE T, FHCIBEHHIAYEBERE,
Let the pipeline run with the developed tests and deal with the potential issues in Production
when they arise.

D) ERKEGENERRS, (WEREIRBRTEMLFREFRIE (QA) .
Use the pipeline as an integration system to deliver the written code to test and quality
assurance (QA) only.

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 14
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17 / 40
—MNFAIRRAIES KGR DevOps FRAENBSITNETZ —.

Bp—IUE MDA AR AT R RS B S ?

A good version control system is one of the highest predictors of high performance in
DevOps.

What is necessary to apply version control successfully?

A) ZRERMEERISICRET
A change in the culture of working with information and configuration
B) EERSTELIEANEE
A significant increase in the speed of change implementation
C) AWERREMARESINE
The deliberate introduction of chaos and instability in Production
D) RAEENNIEMCEEEERE

The use of a formalized and automated change management process

18 /40
HEWREFF A SHHPN A S BRFE, YT DevOpsi=iFHER.

WA TR AMR ST FHX — R

For DevOps, finding the balance between moving quickly and maintaining application
reliability is important.

How does version control support this?

A) BT FBAPRYERIE R AT LA EPR A ZERI S AR

By allowing any member of the team to freely delete unnecessary files and documents
B) BT HEE/ N ABS B ERIFFRERA

By allowing the formation of small independent and self-sufficient development teams
C) BEINAEINIERBRERDIREF LTI

By applying specialized tools to eliminate or reduce waste and optimize processes

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 15
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19 /40
BCEEEImALEMA?

What benefit does configuration management have?

A) FRIHEAIRARRTTXBE PR AR ERIS M

It allows any team member to delete unwanted files without risk.
B) RIFEZFIARRRFET A= LR,
It allows key team members to be absent without problems.

C) RITHIARREE R B HIESIRLA S,

It allows team members to see who changed which code at what date.

20/ 40
EEEEALY RITEMEMIINRARS, BAREES AR,

TEXFRIY MR £, ZERVIEE TS TUE?

Configuration management makes it possible to scale IT infrastructure and software
systems, without needing more people working on them.

How should changes to such a scaled environment ideally be done?

A) BISFEREER

Through continuous integration
B) BiITeEHIRMA

Through fully controlled scripts
O BIMHEm

Through test automation
D) BIIARE MK

Through the deployment pipeline

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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21/ 40
NERIMERERH, BBIERY"STRIENX" (DoD) f£DevOpsHhEXEE,

IRIUEAR RS DevOps Y 5em,"?

A clear definition of done (DoD) is critical in DevOps and considers the value for the
customer.

What is a good description of 'done’ for DevOps?

A) ZHlETERRIFR KT,
A requirement is done when it has been built.
B) ZMidseie/aRPRERTAL.
A requirement is done when it has been tested.
C) IF-mBdRBIEEERT,
A requirement is done when the product is accepted.
D) I mmAMEIEF NGRS RIFTRTH.

A requirement is done when the product is in Production.

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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22 /40
ST, KOURSEIITFE R RETERICR, RFERTEEN, HERGLURRPRE
RIRTF.

DevOpsaattRIMZE A RRIRRI A H LSRRI ?

In traditional practices many things can go wrong with releases: some changes are not
documented, the system has not been backed up fully, or there is no previous state of the
system saved.

How does DevOps ensure frequent releases without these problems?

A) BEBMCAS
By automating releases
B) BiiLE4ERAR
By letting Operations release
C) B/t RH
By making releases very small
D) BIARCRAMBEE
By not documenting all changes

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 18
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23 /40
—NREERARFEEERE.

NOZ R E RS A HHTIRE?
A company uses continuous deployment.
Whose decision should it be when to release new functionality?

A) W55
The business
B) -
The customer
C) ITHR)
The IT department
D) AF

The user

24 /40
tR{EDevOpsLie, (+ARRSIEHHEHIKFAIRIESIE?

According to DevOps practices, what is the best way to increase the level of operational
control?

A) BATE(ELEEL
Automating all manual operations
B) ENEHAIMEMERER
Defining appropriate roles and responsibilities
O) RitEHIinEnS R
Designing control procedures
D) ¥EIz4ERE
Improving operational governance

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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25 /40
DevOpsERR A EHNHFEMTA?

What is the DevOps way of solving incidents?

A) HRECRERFAAHCEFRS R, BRI IRRSEM.
Escalate to the problem management team and create a solution until they solve the incident
B) EERAEM, ETIZER, REMEHFLRTBELE.
Investigate the incident, run diagnostics, then identify and implement a workaround
C) EERXRARFUERURIRESFH LI ERRIEARRTTZE,
See if a related incident occurred earlier and implement a similar solution to the problem
D) BEMEBRIRARIEE, FBRFRIREISTRARERE.
Trace the incident back to a recent deployment and roll the system back to a previous stable
state

26 / 40
EDevOpsH, KILAIEGAPERT NIZ EAM?

In DevOps, what should be done when process deficiencies are found?

A) FIEZEHMNEREFDSEIR, XFETLEIRENE (Kaizen) SH44A,
All changes should be submitted to a backlog, so they can be released in a project or a Kaizen
event.
B) W ARINREE R R EIF LIS SETE.
Fixes should be found and implemented as soon as possible after detection of the deficiency.
C) wikEIEEEE, STELEME, BRURRRM.
Fixes should be found, approved by the change manager, and released based on priority.
D) WiKENES M, SIFEBUALEINE, HZBR .
Fixes should be found, approved by the continuous improvement manager, and released
immediately.
E) Wiz#ERESE, BEEEIUSSEELRNENF.
Fixes should be postponed until the change can be included in an appropriate iteration.

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 20
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27 /40
Bp—HpETEiEFE B DevOps BIRA B THFF A A3 TARER 42

What does not help a DevOps team to successfully develop and deliver working software?

A) EIEHAEHEE—SZGHBRIDevOpsEIRA

Forming a DevOps team for a short period of time during a project
B) RAI. 1ESFERFIZANIREE)I

Identifying, fixing and learning from errors as soon as they are found
C) ElseHR(Ea?EEDevOpsHRA

Organizing&amp;nbsp;DevOps teams around an organizational mission

D) ®wENE, LURHEBRERRIFAETERR

Writing code for software to have built-in quality as a main goal

28/ 40
DevOpsiZ G SLHERI TAERT AL,

B AL BT LASCER R4S B iR?

BICERIE2 EAEE,

DevOps recommends visualization of the work done.
Which two goals can be realized by visualization?
Please remember to choose 2 answers.

A) HERAEIRS

Building a pull-system
B) XoTfE

Dividing the work
C) FnAEE

Fostering commitment
D) HE(RXINSR

Identifying inefficiencies
E) BxIEF

Informing the customer

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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29 /40
B—IAZREESIm (WIP) BIRE?

What is not a reason to keep the work in progress (WIP) limited?

A) EDEFTIRTIRK

To decrease loss of productivity
B) #ENHRLIR

To help eliminate constraints
C) BETFRNTE=E

To help the rhythm of the flow
D) REHRFAE

To increase resource utilization

30/40
EABIFHDEINRY, DevOpsHRARIZE FEIHBLLEK?

Which requirements should a DevOps team consider when working on a backlog item?

A) RIS

Both non-functional and functional requirements
B) EXAEIFINREMERIEAEINREMERK

Neither non-functional nor functional requirements
C) {NIhReRRK

Only functional requirements

D) {MAFThREMERRRK

Only non-functional requirements

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)

22



=%IN

31/40
B—I/E T1.LDevOpsHBMKER G /R RAMNE?

What is an advantage of having a DevOps team work together for a longer period?

A) B BRELHE.

The team does not have to improve the process anymore.
B) EIR\FIFRMEAI IR IR EIFFNUH IR,

The team uses their experience to innovate and improve the process.
C) BEIRNSFHAEIRIET(E.

The team will start working more independently.

D) BRfAESHAMERIMNEK.

There is time left to process unexpected requests more often.

32/40
BEBALA—REA—MNEREE, SUREiBh.

BIRAEIRBIRES, WA URIaS?
The team works in one-week iterations and frequently encounters bottlenecks.

What is the best reaction of the team after they identify a bottleneck?

A) RIS R RIERRET

Eliminate the bottleneck as soon as possible after it is identified
B) REEARIFRIANEAEER

Lengthen only the iteration in which a bottleneck is found
C) FREI—MURPRIERUESEERRIMER AN

Limit the regular number of tasks in a batch to reduce batch size
D) izAAIMMCTELARIESIGR (WIP) PR

Use visualization tools along with work-in-progress limits (WIP-limits)

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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33/40
{AIFHEFADevOpsH TR AT 22 SEUR TN KIE?

When can the use of DevOps for organizational and technological changes lead to chaos
and loss of control?

A)

SARR OSBRI TERSAR

When the core business of the organization highly depends on information technology

B) HANBIEEFFEEMRIKEIR IR AR

When the organization is complex and wants to solve chronic problems
C) HERFERFTELIRFAEIARERIRET

When the organization requires rapid changes to test new business ideas or hypotheses
D) ZERFERIMSERATHRR ST

When the rate of change in the information technology used by the organization is high
34/ 40

AEIKEDevOpsHIRABRE.

ABRIAEHAS FFF 3 EDevOps?

There are many reasons for a company to become interested in DevOps.

When should companies become interested in DevOps?

A)

B)

9]

i SN SE= Ll
When Agile practices do not seem to fit the company
SR SCRC TS A RE RS B A SC IR TERLE SR AT

When no other method gives the necessary results

HANAELIEScrumfiERsLik 2 5

When Scrum and Lean practices have been implemented

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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HLIKADevOpshY, HARRESFEZBEIEME?

What can cause difficulties when DevOps is adopted?

A) FSEREEHIRA

Cross-functional teams

B) EFMURABIERZIR

Limited use of virtualization
C) MIRSZEM

Microservice architecture

36 /40
BRTRITFS R TR —SLARRI ZURIT R F4ER TR,

EXFMER T, AILFEIRADevOpssLHaBRIAEM?
An IT system is still being developed and maintained by many employees as a single entity.
What difficulty with adopting DevOps practices can be expected?

A) SEDevOpsHNARIHTEE

Assigning DevOps teams to separate areas of responsibility
B) Bl FESERRERRLAIRERLE

Creating cross-functional teams to work on the organizational structure
C) HHPFIRAEHZNAPILISEHREFRE

Maintaining and versioning multiple APIs for backward compatibility

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 25
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37/ 40
RIS (COTS) RTIREREFHRIER, EAFARERRGREERE AR,

SF COTSHN AW —IREERA?

Commercial off-the-shelf software (COTS) is used to quickly get the results needed,
because it takes time to develop custom software.

What is true about COTS?

A) COTSEEEH, FERMAKEERS.

COTS requires customization and scripting to configure the system.
B) COTSMOZRT iRl 554k,

COTS should be used to support strategic business lines.
C) ERMARE—REINRE.

Using ready to use software is generally more flexible.
D) RN EEEFEESS.

Using ready to use software is usually much cheaper.

38/40
NI EERIRI TSR B+ AENE?

What is a difficulty of a rigid or monolithic IT architecture?

A) BRI TSRS RYEMZ]

Changing and developing the IT architecture itself is difficult to do
B) 1EXZRNAIRSS IR ToRk

Modifying services within the architecture is done independently
C) HEAZRARRAER FEFEIFRA

Updating to a new version without disabling the current version
D) FHEMBHNEEMEHTARIRTR

Waiting for all components to be ready for a large-scale migration

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH)
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39/40
EWERBE N FIEFERTZERRIDevOpsshly, WRH X TZARRE T, fEYR
HEIRTZERRIFIEEE.

A AKX R—MNFER?

It is recommended that organizations customize and select DevOps practices that work in
that organization. Organization-specific questions must be raised and organization-specific
answers must be found.

Why is this a good idea?

A) ENEXRDevOpsHIHIRMIFAFRESRRMABLRAISIIMER, TR REMEFLM
Because DevOps publications do not always reflect reality and underreport difficulties and
failures

B) FENIXZEmA—AIZRERLIEDevOpsiIDevOps TIEIPATIRIE
Because that is the way to become a DevOps engineer that can be hired for implementing
DevOps

C) AXNEER& T HIMIEEBLNFLEDevOps
Because the management teams know best how to implement DevOps in their own
organization

D) EJ9XTF DevOpshIt R liENT M MITEFAIRIZATE N
Because there are too few publications and events about DevOps to form independent
opinions

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 27
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40/ 40
—MALIREIEREITEMIS, t(IHEFIERADevOps.,

EZRBRD, BEURMERMTA?
An organization has a legacy IT infrastructure. They want to start with DevOps.

What is a common approach in such an organization?

A) TR DevOpsEAMM T mLlE, LB
To start implementing DevOps as a software product, install it and start it
B) FaRRAEMHUTERFIFIRNHAIER K
To start with a basic pipeline that performs at least assembly and initial testing
C) BRERMMUI s m
To start with a selection of the product with the greatest opportunities for optimization
D) BLRBIBLSHEMMRFINBENRER

To start with identifying those systems that are loosely connected with others

E) B%oE—EtthIR TR a Tt

To start with the allocation of a certain proportion of working time for the improvement

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 28
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1740
KT BUEARE, BE—INASIEN®?

Which thought is false in Agile?

A) EEIIEEES, WSARNSHFEAREE.
Business and development work together throughout the project.
B) NaRZECRETEEITE.
Responding to change is valued over following a plan.
C) ERRIEIEFINERKHEZFE— MUTEIL,
Satisfying the customer through exact fulfillment of their requirements is a priority.
D) AR EEHENEEINE.

Working software is the primary measure of progress.

A) EIR, "MEXEIES, WSARSFEARDIURLBEIME EEEESH—ED.
Incorrect. "Business people and developers must work together daily on the project” is part of
the Agile Manifesto.

B) iR, MMZUMTEREITYIEERESH—FD.
Incorrect. Responding to change over following a plan is part of the Agile Manifesto.

C) IEfa. HERILIEFNEREHEEFHAEERESHN—8D, BAEEEENER. (Ot A,
F11.15)
Correct. Satisfying customers through exact fulfillment of their requirements is not part of the
Agile Manifesto, and it is not an aim of Agile. (Literature: A, Chapter 1.1.1)

D) iR, UANRHRGHEHENEENERSREESHN—F7D.

Incorrect. Working software as the primary measure of progress is part of the Agile Manifesto.
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2/40
REEEERINVESARRA (NIST) |, B—IRET = ERNARRIHE?

According to the US National Institute of Standards and Technology (NIST), what is not an
essential cloud computing characteristic?

A) SZRIMRIAEIGR (broad network access)
Broad network access

B) IR{ERRELTER S (pay-per-use system)
Pay-per-use system

C) HuEEM (rapid elasticity)
Rapid elasticity

D) #&igth (resource pooling)
Resource pooling

A) iR, ZRIRELSREEEERINESRARRIREN A ERNREEZ—.
Incorrect. Broad network access is one of the essential cloud computing characteristics
mentioned by the US NIST.

B) IFffi. RIIBRGMEEER, EFEEEERNESHARRRINSHTEREFIEZ—. Hitt
KENESERETEN. (O A, 551.1.25)
Correct. The pay-per-use system is often used but is not one of the essential cloud computing
characteristics mentioned by the US NIST. Other types of contracts are possible. (Literature: A,
Chapter 1.1.2)

0) HR, RWEEMRXEEFINESKAARAMREN ST EAREEZ—.
Incorrect. Rapid elasticity is one of the essential cloud computing characteristics mentioned by
the US NIST.

D) iR, HREEXEEFRNESHARRIRENSIHEREFIEZ—.
Incorrect. Resource pooling is one of the essential cloud computing characteristic mentioned
by the US NIST.
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MDevOpsHIEESRE, S5RUFRKINEHZEHIMFFRIENG, MAKFRITEESE

X,

MF=4DevOps.

HEFRE SIS B ZIEEL?

When looking at the emergence of DevOps, new ways of interacting between parties

involved in software development triggered a need for new ways of IT management. This

resulted in DevOps.

Which parties that found new ways to interact are meant?

A)

B)

9]

A)

B)

9]

EIFIEH

Business and customers

ITERI JFNZ=F

IT departments and customers
ITH A BRI 4ERR

IT Development and Operations

HiR, BWASIREEENETSEFEMINARN, BXASHIREMKZDevOps, DevOpsHITH ]
Sl (BFF) ZENEMFEAL.

Incorrect. The business itself may have changed ways of interacting with their customers, but
this did not trigger DevOps per se. DevOps was triggered by the interaction between the IT
department and the business (customer).

IEffg, "Bk, BTHRTSWSEFRENRHAN, DREBEFRRABREIZRD A, AT XIHIT
BEEHGIFEK. "RIEMZNEHEURAMNSHERENXR, FEXANASEFED, 5
Hb, BEERARIRSNASHRERWAISEE (MAMNNEIT) BEIESHIANE. (X8 A, $
1.1.38)

Correct. "First, due to the emergence of new ways of interacting with the business customers,
and to the adequate application of Agile development techniques, a need for new ways of IT
management has developed.” New ways are required to interact with customers as per the
changes in the market and in the way people relate with their preferred brands, also adequate
application of Agile techniques implies a better perceived return on Agile by the business (not
just IT). (Literature: A, Chapter 1.1.3)

HiR. REBITER IZENEHAZMADevOps KRAIREA.

Incorrect. The interaction between internal IT areas is not what triggered the development of
DevOps.
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DevOpstERARRE LK T emErAIRNFISER. ITHR—MIREBRE TSR (task
switching) "

XFITIRZE R MRS R ERAEHATT SR ?

DevOps relies heavily on the principles and practices of Lean Production. One of the types
of waste in IT is 'task switching'.

From which original type of waste is this the translation for IT?

A) {E (motion)

Motion

B) i¥E4%F= (overproduction)
Overproduction

C) iz (transportation)
Transportation

D) &4F (waiting)
Waiting

A) $EIR. ITHAYKIE (handoff) XINTHEEPEIENFE.

Incorrect. Handoff in IT corresponds to motion in Lean.
B) $HIR. ITHAUERIMORENS N B PRI ELE.
Incorrect. Extra feature in IT corresponds to overproduction in Lean.

C) IEff. ITHRYESTIENNTHEmTREE. (O A, $2.1.15)
Correct. Task switching in IT corresponds to transportation in Lean. (Literature: A, Chapter
2.1.1)

D) $EiR. ITHRIFEXINTHRmPRIFS.

Incorrect. Waiting in IT corresponds to waiting in Lean.
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IMERENEENEEERE = KBS,

X=PKeEr—=2HA?
The most valuable information of a value stream map is taken from three key metrics.
What is one of these three key metrics?

A) ZEEmARIERTE (lead time)
Lead time combined with flow

B) RRESERERSL
Percentage complete and accurate

C) ShEERYIE) (process time) FRLARTERTE]
Process time divided by lead time

D) ZRAMNMERZEIRE:

Value completed minus waste

A) iR, RIENER—MXEER, Bt EEr. EREENHTS, TLIBERER AR ENE
&E,
Incorrect. Lead time is a key metric, but flow is not a metric. It is a concept of velocity that can
be measured by lead time and process time.

B) IEffi, TRESHEREBRDHLENERERNXEER BYTRESENENER. (L8t A, 53.1
)
Correct. Percent complete and accurate is a key metric of the value stream map that helps to
gather the most valuable information. (Literature: A, Chapter 3.1)

C) iR, BN EIRIEREERXEER, E_BRERARE— B RYErR.
Incorrect. Process time and lead time are both key metrics, but the ratio between them is not
a useful measure.

D) iR, FTABMMEREREF ISR (BE_EE#ZEDevOpsti,

Incorrect. Value completed minus waste is not a metric. Both are DevOps concepts, though.
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SHAREEHRTDevOpsSEikRY, XHITEIRATHREESIENN.

DevOpsfEIAZIX—THASHE, S8EE. ScrumiiBmAYRREIZZHA?
When switching to DevOps, a greater return on information technology is expected.
What differentiates DevOps from Agile, Scrum and Lean to meet this expectation?

A) DevOpsiliE T #hr= il BRr=mE i A SBl JFIE4EER 12 Ba93 1T,

DevOps accelerates the delivery of new and modified products between Dev and Ops.
B) DevOpsiliER T MmafIE 3 T #Hr - mils R~ .

DevOps accelerates the delivery of new and modified products to the market and customers.
C) DevOpsHHRIEFRIEEE A E HIBIN N ARSI,

DevOps ensures a quicker response to changes in the infrastructure within budget.

D) DevOpstHa{RERBINNEFSELANMERAIS AT

DevOps ensures a quicker response to incidents that hinder the organization’s value stream.

A) EIR. IMESPIIZEFmaLftEDevOpshIER. BR, BT XAEAEFEIENE, RULNTES
Kz FEDevOpsHIFRERINE.
Incorrect. Accelerating the delivery of products between departments is a consequence of
DevOps. However, since it does not deliver value to the customer, it is not an expected value
from DevOps to achieve greater return on IT.

B) IEff, X#ZDevOpstBiNITIEAIALIN: MEEEFREEFFm, BEEWEREF TN
B (#k: A, 581.28)
Correct. This is how DevOps will produce greater return on IT; by accelerating the delivery of
products to customers in production, helping the business realize value faster and better.
(Literature: A, Chapter 1.2)

0) iR, AMECENEMZINEHRITRIREREK, NBEREEEE, B TTRREESRIITI
IIII.o
Incorrect. Changes to the infrastructure are an internal need from IT, also adherence to
budget. The business will not get greater returns on IT just from changing the infrastructure.
D) iR, XARLINESITHEIE . BMEINERETREFNAFRG, EXASTEEEKRR
s,
Incorrect. This is not a way to achieve greater return on IT. Even though quicker responses will
produce a better user experience, it&amp;nbsp;does not&amp;nbsp;help to produce greater
returns on its own.
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At A FDevOps B B T8~ LHRdiE)?

A company wants to reduce their time-to-market from years to months. One of their
coworkers says they should consider using DevOps methods in the IT department.

Why would changing to DevOps help reduce their time-to-market?

A) HE/IDevOpsiEF & IZHERBEREI— AT, ERAARZED
Because DevOps integrates Development and Operations into a single team, there are fewer
people employed

B) E/9DevOpsEBANIRAER, IINEIES, BERE-HRLT
Because DevOps teams are more expensive, they work more overtime and get a product on
the market quicker

C) E7IDevOpsKABSBERHNEIREBN, BTLIE R BRI A A= ma K
Because DevOps uses self-sufficient dedicated teams, there is more agility to deal with
changing product requirements

HERTE, TR

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 35




=%IN

A) ER. BERARBEASES, REETREESZ, BASIN R REHERTRAR. BHEAR
MEMERABMAIBLLEERITIRERA. L5, ENASHA—EREDevOpsiAERIIFR, A=
ERPERERMEREHE, RAFRIURIF T HREHIIFRXK,

Incorrect. There are usually not fewer, but more people employed, because each product or
product line has their own dedicated self-sufficient team of developers, operators and other
specialists. In addition, the integration itself does not make DevOps a faster way of developing
necessarily, but makes software more robust when deployed, because Dev understands the
needs of Ops better.

B) {HiR. BABLBEENTIREATEENAER, {EDevOpsSEEMAMKE FLEAMEINIERE Rith5enk T
. 1&1aTER: DevOpsEREIMHEI A FEANREMTE.

Incorrect. Although the self-sufficient dedicated teams can be more expensive, DevOps
practices never rely on structurally working overtime to get things done faster. Quite the
opposite is true: DevOps likes to try to find a sustainable pace and rhythm.

C) IFtf. EANBA—1TBELERNETIRBEMNRRE—TmiS, FRDXS i m IR, Lo,
PATIREFER., XFTLURD SR AR RRRE, AR EE M LEheE,  (OZm:

A, F13.15)

Correct. Because there is a single dedicated and self-sufficient team working on a single
product, there are less distractions and interruptions to the work on that product. In addition,
the team does not need to wait for a specialist. This reduces great amounts of waste in the
form of waiting time and helps the team reduce their time-to-market. (Literature: A, Chapter
1.3.1)
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PHERARSHIMMERMER 4

What are two common practices for reducing technical debt?

A) EXZEMARMHEESTE
Formal change and release management practices
B) HHEERFIBKGTAEE:
Incident management and request fulfilment practices
C) EIIFEMTIR
Increasing budget and resources
D) EMFHIEMIERE
Refactoring and facing the issue

A) iR, XFAMERFAIREEIIRAERSS.
Incorrect. These are two processes that could increase technical debt.

B) $HIR, XMW MNAEBeSEMARR AR,
Incorrect. These two processes could cause technical debt instead of reducing it.

C) BiR. XASEERRBIRFREARS, REFAARIEZE, HJRERIMREERARS.
Incorrect. This will not directly help reduce technical debt, although when there are more
developers, technical debt may be reduced faster.

D) IEff, WRIEHE, PMERBMEZERENHEmEE. (@ A, $1.35)
Correct. According to the literature, two of the commonly used practices are Refactoring and
facing the issue. (Literature: A, Chapter 1.3)
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DevOpsHELHR 7L EEEE?

Which significant advantage does DevOps bring to an organization?

A)

B)

9]

A)

B)

9]

iHBRIV S5 RAARESS

Eliminate fragility of a business system
PER=FRIBA

Reduce cost for the customer
DSk

Reduce cultural challenges

IEff, "DevOpsTREBRGHRIR : HaiEr-m Lmhida), FEEERGRSHIEMRESSE. " (OZ8k: A, 551.3.3
)

Correct. "DevOps is expected to address: reducing time to market, reducing technical debt
and eliminating fragility." (Literature: A, Chapter 1.3.3)

$HiR. DevOpsLEAIRERAER, AL T TIHEZFRIBA.

Incorrect. DevOps practices can be more expensive and there is no focus on reducing the
costs for the customer.

HiR. BADevOpsaxMZITHRIEIRN, (BiXFABERIUERD STk,

Incorrect. Although DevOps encourages a diverse team, this does not guarantee a reduction
of cultural challenges.
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DevOpsERIHIA N ZBEER—HERS.

DevOps[EIE T B—MSH8EEFXRAYE?
Sometimes, it is thought that DevOps is a part of Agile.
To which question, that has nothing to do with Agile, does DevOps give an answer?

A) AMERIE AR AFA IRV SIRE iR 0E?
What can be done to release the software we develop quick enough to take a large market
share?

B) ATEEEFNTHEFIIREK, NSEFEHAFNXERYVEN?
What relationship with our customers is necessary, so that we understand their requirements
better?

C) WA seL = mINARRINEEDEHREREN NS THERIE?
What should be done with a released product to make it useful and easy to operate?

A) iR, FRIIRMEEREIENEDevOpsii—iEy . BHERETFRIFAMREBAVTIEEMLERD .
DevOpsH—SRER 7 EiFith HLrE P eERIEMMERTTTE,
Incorrect. The release of a product is both part of Agile and DevOps. Agile helps to quickly
release functioning parts of the final product. DevOps further explores ways of delivering real
value to actual customers better.

B) {EiR. SEFHXENERIELEEUENDevOpsii—Ei9y. FRAEASESEFPIRFEIIRER, LA
TR = SRIEIMNME,
Incorrect. The relationship with the customer and the requirement gathering are both part of
Agile and DevOps. Product Owners will maintain close contact with the customer to ensure
value is being added to the product.

C) IEfa. ERARIRESTEERMIIEHNRA—ESEREN—3D, BAREDevOpsHEERNSD. (X
mh: A, F1.5.15)
Correct. Thinking about the release and operate phases during development are not
necessarily part of Agile, but they are an essential part of DevOps. (Literature: A, Chapter 1.5.1)

Zi#{#4 EXIN DevOps Foundation (DEVOPSF.CH) 39




=%IN

11740
A A NMER ESIEDevOps AN B E?

Why is the concept 'value stream' so important in DevOps?

A) MERBEBTRIEEHFEEREMMNNBEES.

The value stream helps coworkers to see and understand their daily tasks.

B) IMERBETOHTENRE (as-is map) BT EEREHET=MA.

The value stream helps to analyze the as-is map and any attempts to improve metrics.

C) IMERBEITIRMEA MM T B SRITIFES.

The value stream helps to identify when someone did their part of the work.

D) ﬁ”ﬁmbﬁﬂb:_l:uw"bﬁﬁléﬁ_ﬁﬁ ﬂﬁﬁ ﬁuuﬁz*u)/g
The value stream helps to realize a smooth and uniform flow through all process steps.
E) fMERBE TSR TIECE ST BERIL.

The value stream helps to realize local optimization in the current work practice.

A) HiR. XEXTMEINIERS" S 7SR AHA".

Incorrect. This is "The what of their work", while missing the expected outcome "The why".

B) iR, MUITIFANRTHIVAE. BUELFISIR TIFLHRABAERIRIRE (to-be map) .
Incorrect. The optimization work should not be limited to analyzing the as-is map. It is
necessary to develop a to-be map, which may be quite different from the current work
practice.

0) HiR. EENRENEEFARRGE RIS IHEAHUNME,
Incorrect. It is important to know when the customer received or started to receive the value
they expected.

D) IEffs. IMERMSHERAEGZINMER@RBE SRR, (O A, $3.15)
Correct. The concept of the value stream ensures that a smooth and uniform flow from one
step to the next in the process can be created. (Literature: A, Chapter 3.1)

E) $HiR. XBETIRBFEMGES, RrERRIBIRH.
Incorrect. It helps to identify and eliminate bottlenecks, while avoiding the local optimization
trap.
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MERENS—E2HA?

What is the first step in value stream mapping?

A) BIEFERAE

Create the requirements specification
B) iCREFAAITIIE

Document the work done
C) HEMEFRIRELER

Identify the key steps in the process

A) iR, F—ENZEHEREMENARINXESER,
Incorrect. The first step should be to identify key steps for the team'’s particular process and
organization.

B) iR, MIRCHELEEE, HLROEMNTE. EIESE FSRNTIERENMEREN—
ot
Incorrect. Documentation of the work done should be done only after identifying the key
steps. Work done on non-essential steps is not part of the value stream map.

C) IEfa. XNZ2MERERSE—F., BRNXTECEEMERERTEXIRIRE, FHRBISTATIFRIE
IMMERIRELER, (SEk: A, $B3.1F)
Correct. This should be the first step when value stream mapping. The organization should
look at the process for which they want to create a value stream map and identify the key
steps where work is done and value is added. (Literature: A, Chapter 3.1)
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IMEREFRE B MMERPAUESEAT.,

AT L2EZHIEMERE?
A value stream map shows clearly where the inefficiencies in a value stream are.

Why should a value stream map be made?

A) FEENMAISSRAZ

To help optimize business processes
B) EETIFABEIA

To see which people are not working hard enough
C) IntR7EHIGR (WIP)

To speed up the work in progress (WIP)

D) BMIZEERAF mEk I it
To visualize which product line should be ended

HERTE, TR
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A) IFf. XEHEHNMERERNZEZEHNERR, BEXMUEREMMEZL. O A, F3.15)

B)

9]

Correct. This is the reason one should have in mind when creating the value stream map and
this is where the exercise has the most value. (Literature: A, Chapter 3.1)

iR, SHMERBNREAIFATEERERSRN, ENIZTRRESEEIESHIE. Bk, X
ZMRE, XEATRTALFRIBINTE, RERE.

Incorrect. The reason to do a value stream mapping is not to see who is redundant, who
should get fired first or who is not pulling their weight. Instead, the processes should be
optimized, so that the people in the company can start producing higher quantities with
higher quality.

HiR, BANEIRRINR, ETFEABHA—ERENR, Bk, TFASIRERMIELIERERT
RE—RNNE, NMEEREEFAT. MRITIFREARER, BERREFHATIIBINEZMES
28,

Incorrect. Although the process may speed up, the work itself does not necessarily need to
speed up. Rather, the work itself may slow down to avoid errors and increase first-time-right,
which can save a step of quality control. Speeding up the work is not the goal, eliminating
waste and adding more value to the business is.

D) #EiR. EARTWAIREREMEREREERISZLET M, BXBEARMERENEFR. Bk, MY

XA T RN ERE.

Incorrect. Although the business may decide to end a business line or a product line based on
the value stream map, this is never the goal of value stream mapping. Instead, value stream
mapping should only be done for viable products.
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ESFTERNERARF. XMILTRHFER BN ERANCRIBATF.,

A LM R PR E RS | & ?

Tasks need to be prioritized. This prioritization takes place in the queue at the entry of the

value stream.

Why does this prioritization often cause problems?

A)

B)

9]

D)

EAFNXNT AR ENE /B B THYESHIEERE k. IXHERE, NMSERE.
Because at this point, the decision is made how to build the deployment pipeline for the tasks
that can be automated. This takes time, which causes delays.
EXHMER PRSI E B ERER, M5 IR,

Because enabling measurements of the key indicators in the value stream is done incorrectly
or inefficiently, which leads to problems.

EAR AT RAMESHRA T TR ESR (WIP) IREIRNERALEARES.,

Because implementation of the use of visualization tools along with work-in-progress limits
(WIP-limits), with which one can identify the bottlenecks of the tasks, is done incorrectly.
B REIRNME TSR, IRFAELEsE, XEEARAE,

Because the development of the as-is version and the to-be version of the stream must be
created, as well as a list of the changes required. This takes a lot of time.

BlEsT %, ELEFRZHRSETSRE, XESBARIGED,

Because when many decisions are made before work even starts, like in the traditional
approach, this causes massive delays.

AERTE, BN
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A) EiR, WEBHIERENHEEMER, FEASEMNERAOBBYIGRE AR,

B)

9]

Incorrect. This step is taken later in the process and does not cause problems at the queue at
the entry of the value stream.

HiR, XABMERS—PHIBR (EREENEARN) . FAIZEXNM T RET, EIRNZ5 AR
ZlR9Ia0RR,

Incorrect. This is not an objective of the first step of the value stream (maximization of the
number of metrics) and should not be done at this point, so this should not cause the
problems mentioned.

HiR, BEXA5, SSAERYSRAPRSHBIHMAM, BRXTEEAT RAERERE.
Incorrect. In this way a state of an even flow without delays is achieved and bottlenecks are
shown, but this is not the problem that occurs at the point mentioned.

D) fBiR. XNMEENERINEEMEFTIM, EHASEMAT RS |ABR

E)

Incorrect. This is achieved later in the process of the value stream, so this should not cause
problems at the point mentioned.

IEff, S—MARGEESRAIFSESE, e TIFEXRRERET R TIEZRHER, XS5k E
AR,  (3Z#Ek: A, 54.108)

Correct. When an organization keeps using many traditional practices, where all decisions
regarding the work are made before starting the work, this causes the problems mentioned.
(Literature: A, Chapter 4.10)
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"BRE VK XM ELSRIRIRRTA?

Which idea is the origin of the concept 'deployment pipeline'?

A) TRIKEERERIAZ LR
A pipeline that carries a liquid creating flow
B) S FEAL
An assembly line such as a car plant
C) ERFTAKEAIMALLIERS
Modern processors that use parallel pipelining
D) ERZNEEERIES
The idea of using more than one assembly line
E) MBEARREFARTIFENIRE
The process of deploying people to do different jobs

A) HIR., XE—NMEINERNR, FEESHERS Y.
Incorrect. This is a common inaccurate opinion and not the proper meaning of the concept.
B) i{HiR. X2— TEINERNAR, FT2MSERS Y.
Incorrect. This is a common inaccurate opinion and not the proper meaning of the concept.
C) IEffa. Jez Humble #0 David FarleyBEffaZr, HJBAIEHEXNARIER, RESKRETIALIEZZZEERY
BBEEX, XMEBEAEINRTERO™4E. (@ A, $3.25)
Correct. Humble and Farley clarified that when they coined the term they used the idea of
pipelining from modern processors architecture that allows it to produce far faster results.
(Literature: A, Chapter 3.2)

D) iR, XR— M ELANERNR, FRESHIERS Y.
Incorrect. This is a common inaccurate opinion and not the proper meaning of the concept.

E) %Ela&o LZE_/I\T%"JL:E’J‘,EEIEE / \\r TZE*EEILAE’JIEE%@M::
Incorrect. This is a common inaccurate opinion and not the proper meaning of the concept.
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LHERB KA IBRTR, £F), T RRNEARABREINERIREIESE.

XN AR RS EZR A A?

When implementing the deployment pipeline, problems are encountered. Initially, there are
not enough pre-developed tests to ensure steady operation of the Production
environment.

Which solution best addresses this problem?

A) BIEERKEARTEZIBIM, BETRMBEESUNZRIAESA.
Create the pipeline and as many automations as possible, but do not use them until all the
proper tests are in place.

B) EBIMUBRBER, WHIEARARSORRR T LARE,
Increase the coverage of the code with tests as technical debt, which must be addressed as
soon as possible.

O) iERK&ESHENNE—EE T, FHCIBEHHIAYEBERE,
Let the pipeline run with the developed tests and deal with the potential issues in Production
when they arise.

D) ERKEGENERRS, (WEREIRBRTEMLFREFRIE (QA) .
Use the pipeline as an integration system to deliver the written code to test and quality
assurance (QA) only.

HERTE, TR
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9]

D)
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iR, BIENKEEETHRIEUNZAIAEMABEEAENE, NMREKISEE, MZ=nER
73i%, FereAEERNEN, BEFErERRRIH LIS INE SR,

Incorrect. Creating the pipeline and not using it until all the tests are in place will take too
much time, which loses the business money. An iterative approach should be attempted, with
the most important tests first and continuously generating new tests to increase coverage.
IEff, BITUHEIMBNEEREMRILIENE—TE,  OOk: A, 5$3.28)

Correct. Increasing the coverage of the code with tests is the only solution for this problem.
(Literature: A, Chapter 3.2)

HiR, BERKEE T/ MWIEUHESERBERAME, FUEEADHSEITEZE—E. XEE
TR ERRIR .

Incorrect. Letting the pipeline run with a small set of tests creates poor testing coverage and
potentially creates many issues in production. This hinders the adoption of the pipeline.

iR, MEBKESEETRABRMAEER, MAMUEWAFIQA, EItSBIRAR.

Incorrect. The deployment pipeline aims to deliver working code to Production, not just to
test and QA, so it will not fit its purpose.
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—MNFAIRRAIES KGR DevOps FRAENBSITNETZ —.

Bp—IUE MDA AR AT R RS B S ?

A good version control system is one of the highest predictors of high performance in
DevOps.

What is necessary to apply version control successfully?

A) ZRERMEERISICRET
A change in the culture of working with information and configuration
B) EERSTELIEANEE
A significant increase in the speed of change implementation
C) WERREMARESINE
The deliberate introduction of chaos and instability in Production
D) RAEENNIEMCEEEERE

The use of a formalized and automated change management process

HERTE, TR
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9]

D)
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IEffg, MRANEBISSIHERIE TR RFRIFEEXED, MEMTELESTI. STt BRMRAEHE
MRIZREEMEENXI. (Ot A, $3.38)

Correct. Versioning allows for control over all the relevant parts of the system in operation,
unattainable with other tools. Version control done well requires a change in the culture of
working with information and configuration. (Literature: A, Chapter 3.3)

HiR. ATRAERMSEA, SX/VFNEINEREEERS, TELBHEMRE, BXAERAE
FIRIZRRN,

Incorrect. The degree of automation has increased significantly in the last years due to the use
of virtual cloud technologies, and so has the speed of the change implementation, but that is
not a required principle for version control.

HiR. DevOpsHEXNIESMHAII— N EELHREZISE EEHIAMREL S INEF R, XMTEES
FROY%E: game day, chaos monkey, simian army, {BiXLESARIRAIEHIHILERN,

Incorrect. One of the great practices of DevOps related to anti-fragility is the deliberate
introduction of chaos and instability into the production environment. This technique is
known by various names: game day, chaos monkey, simian army. None of these are required
principles for version control.

H%2, N TR TERMIMGNNEEEY, — AR S N T E SRR, LT ER
2, FRTAEESEERETBEXNNG, (BRI SR,

Incorrect. To deal with fragility in the IT infrastructure, some organizations use formalized and
automated change management processes designed to structure the flow of changes and
minimize the risks associated with their implementation, but that is not a required principle
for version control.
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HEIREF AR SHHF N AR 2 ERIFE, T DevOpsMSIFHEE.

For DevOps, finding the balance between moving quickly and maintaining application
reliability is important.

How does version control support this?

A) B LA A H AR AT LS BB A RIS FOSAS

By allowing any member of the team to freely delete unnecessary files and documents
B) BT IFHEE/ DRI BSHEINFAZRA

By allowing the formation of small independent and self-sufficient development teams
C) BINAEINIERBREURDIREFLTIE

By applying specialized tools to eliminate or reduce waste and optimize processes

A) IEtf. MRAESRLEAPRIERIAR T LA BRPR ARG EREFINE, MASEEINEREREEE
FEmAXBG,  (SZEk: A, 583.3F)
Correct. Version control allows any member of the team to freely delete unnecessary files and
documents, without the risk of accidental loss of important information or product.
(Literature: A, Chapter 3.3)

B) iEiR. HE/NE. BLEENSTHIIZBARZDevOpsthf— Mz BAR, (BAREMRAIEHSIFR A
AR S MERTTT 0.
Incorrect. Forming small, self-sufficient and diverse teams is a key idea in DevOps, but it is not
the way version control supports agility and reliability of the system.

C) $HiR, XEEmErESHEITISRNA, ERENNIRRIRSE, AENAEMEINIERER
BRDIREE. BE, XARRAESISIFR AR &R,
Incorrect. This is a practical application of Lean production ideas to IT. Use specialized tools to
identify waste; then apply other specialized tools to eliminate or reduce waste. However, this
is not the way version control supports agility and reliability of the system.
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BCEEEImALEMA?

What benefit does configuration management have?

A) RHHIEBARR TR R TR,

It allows any team member to delete unwanted files without risk.
B) RIFEZFIARRRFET A= LR,

It allows key team members to be absent without problems.
C) RITHEIBARREFEER BEAESIIRLA T,

It allows team members to see who changed which code at what date.

A) IR, IRAEHATHEHIZRREERMEE. WREIMERE, JLWRKELRIRRRE.
Incorrect. It is version control that allows any team member to freely delete information. If
anything goes wrong, the previous version can be restored.

B) IFffi. HFETELHEEEEEGN, RAKEVENBMKRSERITARRERS. I, NRXE
EIRARLREEBA, MBMRIRIRAEEE, MERETEED. (XEk: A, $3.45)

Correct. When all changes are controlled by configuration management, the system is
automatically restored to a previous stable state if necessary. In addition, if key team members
leave, their knowledge is not lost, but solidified in the configuration. (Literature: A, Chapter
3.4)

C) EiR. ICRAAEARNENBLERNTBETRAES, FETEEERE.

Incorrect. The records of what was changed when and by whom are part of version control
and not of configuration management.
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ECEEEAL RITEMIETIRE RS, BEAREEZAR.

TEXFRIY IR L, ZERIIEE TSRS TVE?

Configuration management makes it possible to scale IT infrastructure and software
systems, without needing more people working on them.

How should changes to such a scaled environment ideally be done?

A) BITFFERERL

Through continuous integration

B) BiIscei=HIRIMA
Through fully controlled scripts

C) BEINKBL
Through test automation
D) BIIRRE KL
Through the deployment pipeline

HERTE, TR
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A) R, FEEMELEE KENEZ IR, ERRMZAFEERENEHMHIRSHIE—T
. HRERT, XEE2EE BT,
Incorrect. Continuous Integration is the second stage in implementing a deployment pipeline,
but not the only way administrators should be allowed to change anything in production.
Ideally this is all done by automated scripts.

B) IFffi, L b, ALIREEEEEREEFPEANBRENR. REEdeezs FN8a0t) A9
X, BURNATERRBTHTER, Ok A, 533, 345)
Correct. In fact, it can be argued that even administrators no longer should have rights in
production. They should not be allowed to change anything except through fully controlled
(and automated) scripts. (Literature: A, Chapter 3.3, 3.4)

C) iR, WiXBMCRLIERREFKEIE=MNER, ERRMNZAITTFEEREREFPEAIRSAIE—
. HEERT, XERETEMCEARTTHRT.
Incorrect. Test automation is the third stage in implementing a deployment pipeline, but not
the only way administrators should be allowed to change anything in production. Ideally this
is all done by automated scripts.

D) iR, NEREERR, —MaTRIFETEBMNIIEE KB MU RIVE I MR A= H T2
FRFFPREE. B2, THlFIIRERKEIER. XTMANZRBMZIFERRERE
PEAAERSIN. EERERT, XEEEIBNCHIATTAT,

Incorrect. At an abstract level, a well-working and fully automated deployment pipeline is an
automated manifestation of the process for getting software from version control into the
hands of users. However, a manual deployment pipeline is possible. It is not a description of
the way administrators should be allowed to change anything in production. Ideally this is all
done by automated scripts.
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NEPIMERERH, BBEIY"TRIENX (DoD) "fEDevOpsHEXER,

IRIUEAR RS DevOps Y 5em,"?

A clear definition of done (DoD) is critical in DevOps and considers the value for the
customer.

What is a good description of 'done’ for DevOps?

A) ZHlETERRIFR KT,
A requirement is done when it has been built.
B) ZMidseie/aRPRERTAL.
A requirement is done when it has been tested.
C) IF-mBdRBIEEERT,
A requirement is done when the product is accepted.
D) I mmAMEIEF NGRS RIFTRTH.
A requirement is done when the product is in Production.

A) EIR, FAEFGINMEZE, EEIATLUBAEN 7T, WiEREDevOpsiik&aI— M
B, BARIKEEEMINE.
Incorrect. Something is considered 'done’ when value for the customer has been added.
Building is just a phase in the DevOps pipeline, no added value is obtained yet.

B) &R, EARFEIENMEZRE, EERATLSIAEN"5TH". MHREDevOpsiiKeHrI—M
B, HARIKEEHAIMINE,
Incorrect. A good description of Done for DevOps is to consider something Done when value
for the customer has been added. Testing is just a phase in the DevOps pipeline, no added
value is obtained yet.

) B2, EREFUENESS, FERAALUBIAEAR SR, RIKREDevOpsTkEdhr— M
B, EARIKSEHEMINE,
Incorrect. A good description of Done for DevOps is to consider something Done when value
for the customer has been added. Acceptance is just a phase in the DevOps pipeline, no
added value is obtained yet.

D) IEff. EABFRIENMEZR, ESEMATLUMIAENR ek’ FmitTEr-MEhERI AT,
(3Z#k: A, 53.58)
Correct. A good description of Done for DevOps is to consider something Done when value
for the customer has been added. This is true when the product is in the production
environment. (Literature: A, Chapter 3.5)
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EEFLET, KOURSEIIFE R RETERICR, RFERTEEN, HERGLURIPRE
RIRTF.

DevOpsaattRIMZE A RRIRRI A H LSRRI ?

In traditional practices many things can go wrong with releases: some changes are not
documented, the system has not been backed up fully, or there is no previous state of the
system saved.

How does DevOps ensure frequent releases without these problems?

A) BEBMCAS
By automating releases
B) BiiLE4ERAR
By letting Operations release
C) B/t RH
By making releases very small
D) BIARCRAMBEE
By not documenting all changes

HUSESCHE - Nl
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A) IFfa. BERRRAMIEAFERMRAERAFINEEZERZR. NRED. CRAERNAEANE
SETMBME, WARBHRDRNFTREMEGAKIFE. WRTEMINEIERT, RISIREZRBAREX
1780, (OZ#k: A, B41T)

Correct. Automation is an important factor in ensuring that releases are frequent and that the
release process becomes routine. If all human factors of backing up, documenting and rolling
back are automated, the chances of problems with releasing diminish dramatically. If a release
cannot be implemented successfully, the system will alert the team to act. (Literature: A,
Chapter 4.1)

B) IR, LFTHRMEEINAARENLE DIARRE, &SRS RS RNEHRRRIEE+, &
LU TR ENBL IR B EZB AN EN. RREARMITAEHERS A A RERR LIARIRE,
Incorrect. Giving Operations control does not prevent the mentioned problems. Looking at
Operations and integrating Development into their practices may shed light on which parts of
the release process need automating and standardization. Just handing over releasing to
Operations will not solve the problems mentioned.

C) &R, EEMAHIIESE, ShITESEARELES, MU —E L FnAREEE
. MERMAERMIERN,

Incorrect. The size of the release does not matter as much as the automation to make the
routine releases work. The smaller releases will not necessarily prevent any of the problems
mentioned. Releasing frequently will make the releases smaller.

D) iR, XSMEIERE, SINRAEHRS (RIFREMNMESR) KEETHERATXHCRAZS R
EJRR,

Incorrect. This will make the problems worse. Introducing a versioning system, preferably
automated, will help eliminate the problems caused by improper documentation.
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—NREERARFEEERE.

NOZ R E RS A HHTIRE?
A company uses continuous deployment.
Whose decision should it be when to release new functionality?

A) W55
The business
B) -
The customer
C) ITHR)
The IT department
D) AF

The user

A) IEff. TERFFEERER, RMSRRFINREKE—FSRER. HISREZIHRIIRINGEZR, Z
TIREFTRECEERRE 7 —ERAJIE, ITE RECTE AR, HWSKREMIRMHIEE. (OHFE: A,
BANE)

Correct. Releasing new functionality to be used becomes a business decision when using
continuous deployment. The functionality may already have been deployed for a time before
the business decides that it is time to switch the functionality on. The IT department releases
in their own tempo, the business decides when to release new functionality. (Literature: A,
Chapter 4.1)

B) iR, BAXMIETRAMNRRBER, BRHEERWSRE,

Incorrect. Although this stakeholder is important for the decision, releases are primary a
business decision.

0) iR, BAXMETRANRRREE, ERHEERIEREK.

Incorrect. Although this stakeholder is important for the decision, releases are primary a
business decision.

D) HiR. BAXMFETRANRRREE, ERHETERWSRE.

Incorrect. Although this stakeholder is important for the decision, releases are primary a
business decision.
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tR#EDevOpstly, HARRSEHHESIKFENRIESE?

According to DevOps practices, what is the best way to increase the level of operational
control?

A) BATER(FEEREIME
Automating all manual operations
B) EMEHRIABIIERE
Defining appropriate roles and responsibilities
C) RIHEHRENLSE
Designing control procedures
D) METHAIE
Improving operational governance

A) IEHfi, BRATRESHIRERIMUEIINEEEE, RAMBEREHENNER 1, JRERARER
HER, ENEMMCBSRERERTEAKIRE. (X8t A, $4.1.38)
Correct. Automating as many operations as possible will give total control, because all
operations become instant and uniform. When an operation is suboptimal, changing the
automation will also change all future operations. (Literature: A, Chapter 4.1.3)

B) iR, REENAEBMIARRER, BHAEERTINRIATEERIFITEH.
Incorrect. Although defining roles and responsibilities is important, it does not directly impact
the control over all operations.

0) #HiR. RERRITWELRLTTE. MELBRItE, MZTHBEME, NmEntiE, RIEFREEHRE
HEH—N.
Incorrect. Just designing procedures will not help. Once the procedures are designed, they
should be automated so no errors are made, and all operations are uniform.

D) #iR. EAXATRUEMLNCARE, BRP[EAFETESES. BalitiatReizd.
Incorrect. Although this may be desirable anyway, just governing does not give more control.
Automation ensures total control.
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DevOpsERR A EHNHFEMTA?

What is the DevOps way of solving incidents?

A) HRECRERFAAHCEFRS R, BRI IRRSEM.
Escalate to the problem management team and create a solution until they solve the incident
B) EERAEM, ETIZER, REMEHFLRTBELE.
Investigate the incident, run diagnostics, then identify and implement a workaround
C) EFRXRAREMERURIREISFHIERRIDEARRTTZE,
See if a related incident occurred earlier and implement a similar solution to the problem
D) BEMEBRIRARIEE, FBRFRIREISTRARERE.
Trace the incident back to a recent deployment and roll the system back to a previous stable
state

A) EIR, RS EUTEREZEE—TIBANRESR, AXMERT, EENERAEKTTESEIR
iR
Incorrect. This solution may lead to a working workaround, in which case the real problem
may never get solved.

B) $HiR. LheTEIRHANEERRREM, TAOZREUXFHE(E,

Incorrect. Implementing a workaround does not solve the incident. This is not how one should
operate.

C) EiR. XMBRLERTERMLELE, AFSABE. FUZZFHEMAKIES R,
Incorrect. The solution is most likely a workaround, which is not desirable. One should not
wait until someone else fixes the problem.

D) IEff, WHRIESER, "IRSFHENIIRIENERE, MKEEHRAEEMEIREISTAEHNNRERTE,
TSR R EMNER AT Tk, BMRLESEGIN. OOk A, F418)

Correct. According to the literature, "In case the incident is traced back to a recent
deployment, the pipeline control system will automatically roll back to the previous known
stable state". This is what should happen, whether this process is automated or still done
manually. (Literature: A, Chapter 4.1)
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£DevOpsH, RILAIERIERINIZ EAM?

In DevOps, what should be done when process deficiencies are found?

A) FAEXEHNEREFDSEIIR, XFETLEIBENE (Kaizen) SH44Am,
All changes should be submitted to a backlog, so they can be released in a project or a Kaizen
event.
B) W ARINRIEE R R EIF LIS SHETE.
Fixes should be found and implemented as soon as possible after detection of the deficiency.
C) »ikEIEEEE, SEELEME, BRUUERRT.
Fixes should be found, approved by the change manager, and released based on priority.
D) WiKENES M, SIFEMUALEINE, HZBR.
Fixes should be found, approved by the continuous improvement manager, and released
immediately.
E) WizfERES, BREEIUSSEELRNENF.
Fixes should be postponed until the change can be included in an appropriate iteration.

A) R, KETEEHNESHIRSER, BNRRSEEHITERRE, FAFESIAN—ED.
Incorrect. A large change event or a Kaizen event may be useful, but regular changes to the
process as a part of continuous improvement should be done as quickly as possible.

B) IFffs. RIAEREMMEESSHESALENRM, "FEit, DevOpsKE T AEAME: FIEEIR

BIRTAFEERPENSZBNERR. " (OZk: A, $B418)
Correct. Not fixing process deficiencies when they have been detected leads to more
problems than necessary. "Therefore, DevOps uses a different approach: all identified process
deficiencies should be eliminated immediately.” (Literature: A, Chapter 4.1)

C) HiR. AMFAEXEZME, NIZBITEESERE.

Incorrect. There is no change manager and the fixes should be implemented immediately.
D) $HIR, NMFERHSIHEIEE(HAESREIE,
Incorrect. There is no continuous improvement manager to approve any fixes.

E) iR, HERAR—MFER, REMRFERE AN I Rmem.

Incorrect. Postponing is not a great idea. It keeps the system inefficient and impacts the work
negatively.
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Bp—HpETEiEFE B DevOps BIRA B THFF A A3 TARER 42

What does not help a DevOps team to successfully develop and deliver working software?

A) TR HREEE—SZFEHARIDevOpsEIRA

Forming a DevOps team for a short period of time during a project
B) RAI. 1ESFERFIZANIREE)I

Identifying, fixing and learning from errors as soon as they are found
C) ElseHR(Ea?EEDevOpsHRA

Organizing&amp;nbsp;DevOps teams around an organizational mission
D) wER, LHEERERRIEATERR

Writing code for software to have built-in quality as a main goal

A) IEffs. DevOpsEIRANERAIBEHAMAR. X{EIBTESEREF B CHERE R IHE4FHF
TEBUHT. (OCBK: A, 554.2E)

Correct. DevOps teams are formed for a longer period. This gives them the opportunity to use
their experience in the future to deliver new software quicker and to keep innovating.
(Literature: A, Chapter 4.2)

B) {HiR. #kH)\, MBEZEIERFIIEIYIE, DevOpsiFERIEKENSER, TIEPIZEMESERIHE
AR,

Incorrect. When batches are smaller, errors can be found more easily and corrected
immediately. DevOps focuses on the Lean process of finding errors fast, fixing them in the
process immediately and optimizing the process.

C) $5iR. DevOpsWIEENHE <z —RENETLLE S TIERF SR ENAR Birk At IEINNE,
Incorrect. One of DevOps's main advantages is that the team adds value to the business by
aligning their work to a specific organizational goal.

D) $&iR. FENEREEDeVOpsHEAAIBRE SR, NTIRISE, RENDTHEEES K
B, BRTRIAERED, RoEe, RESTIMEBN.

Incorrect. Focusing on built-in quality is a Lean property incorporated by DevOps. When one
is coding for quality, it may take longer, but because fewer bugs are found and the system is
built to be more robust, this adds value in the end.
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DevOpsE G LiEr TIErT#{L.

B RT LASCER RPN B R?

BICESHIE N EHEE,

DevOps recommends visualization of the work done.
Which two goals can be realized by visualization?
Please remember to choose 2 answers.

A) HENHRSR

Building a pull-system
B) XoTfE

Dividing the work
C) BmEAE

Fostering commitment
D) HAERSIIR

Identifying inefficiencies
E) BXIEF

Informing the customer

HERTE, TR
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IEffs, XEXRATIMARIEL. TERPTRRREAS, NMRELIERE, BMSHIE; T
BEE, THHEREEBTFRANESINSR, (3#k: A, 584.38) <BR>Correct. This is a benefit of
using visualization. Visualizing allows to build a pull system, which in turn: improves the
workflow; reduces downtime; reduces the need for coordination. Visualization also helps to
identify inefficiencies. (Literature: A, Chapter 4.3)

Hix. BIAATLABRUELS TIEMAR IR, AEAREIIIIAEERHN, REXR%3FDevOps
BRI+ 9oEE, EP2ZE (Voice of the Customer) itz 7E (Voice of the Business) {£F&RA
NIZEFHZEF, <BR>Incorrect. A team can effectively divide the work without visualization.
Commitment is not fostered by visualization, although it is important for DevOps to be
successful. The person acting as Voice of the Customer or Voice of the Business should update
the customer.

HiR. BARTLABRUER S TIEMAT IR, AENZEI AR, REXRTDevOps
BRI+ 9oEE, ZEFP2ZE (Voice of the Customer) itz 7E (Voice of the Business) {tF&RA
NIZEFHZEF, <BR>Incorrect. A team can effectively divide the work without visualization.
Commitment is not fostered by visualization, although it is important for DevOps to be
successful. The person acting as Voice of the Customer or Voice of the Business should update
the customer.

IEf, XRRATIANELS. TIECARIFEERRES, NSELERE, mMEHEE; B
BEE, JHEEEH RTINS, (XEk: A, 54.35) <BR>Correct. This is a benefit of
using visualization. Visualizing allows to build a pull system, which in turn: improves the
workflow; reduces downtime; reduces the need for coordination. Visualization also helps to

identify inefficiencies. (Literature: A, Chapter 4.3)
£, EBARILUERIERIS TAEMAEa. RSB AEER, REXA%FDevOps
MBI+ 9EE, EFZE (Voice of the Customer) Nl 27 (Voice of the Business) {XZF&A
MIZEHZEF, <BR>Incorrect. A team can effectively divide the work without visualization.
Commitment is not fostered by visualization, although it is important for DevOps to be
successful. The person acting as Voice of the Customer or Voice of the Business should update
the customer.
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B—IARZREESm (WIP) RIRE?

What is not a reason to keep the work in progress (WIP) limited?

A) EDEFTIRGIRK
To decrease loss of productivity
B) #HBENHERRLIR

To help eliminate constraints

9] EEJJ:.FI}ILHIJ-DE
To help the rhythm of the flow

D) SRR AR

To increase resource utilization

A) fHIR, BEREWIP, BERARRITUEEETFHRRNSE, XETFHEIERESHEHERA RS ER
thlir, HEZREES.
Incorrect. By limiting WIP, there is more focus for the team members to work on a single item.
This helps to stop unnecessary interruptions by task switching and ultimately leads to more
productivity.

B) &R, PRHIWIPEETREFESHERATESARILRE.
Incorrect. Limiting WIP makes it easier to quickly fix errors and optimize the system between
tasks.

C) IEf, XAERBWIPHmAEZ—, (#k: A, 544, 455)
Correct. This is not one of the benefits of limiting WIP. (Literature: A, Chapter 4.4 and 4.5)

D) iR, BIIRFEIWIP, EBARLRAILIEE T TFEEANET, XA T IEEES TR ER
hiff, FAREBUHERFIRE,
Incorrect. By limiting WIP, there is more focus for the team members to work on a single item.
This helps to stop unnecessary interruptions by task switching and ultimately leads to a better
use of resources.
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FERNBIFDSEINRY, DevOpsHEIRAROZE FEHBLETEK?

Which requirements should a DevOps team consider when working on a backlog item?

A) IFTHREMRERANINEEILRS

Both non-functional and functional requirements

B) BXARIFIREMFRR AR

Neither non-functional nor functional requirements
C) XIhEelt=

Only functional requirements

D) {MAFIhREMERRK

Only non-functional requirements

A) IEfa. NRERSEEIIREMERRFNAEINRENTR (3Z@k: A, 5B4.65)

Correct. Both functional and non—functlonal requirements should be considered. (Literature: A,
Chapter 4.6)

B) $HiR. NEREBINEEMFERIAFIEIER

Incorrect. Both functional and non—functlonal requirements should be considered.

C) iR, NERSEEINEEMEFRRIAFTIREMET

Incorrect. Both functional and non—functlonal requirements should be considered.

D) $EiR., NERSEBINEEHEFRIAFINEIER

Incorrect. Both functional and non—functlonal requirements should be considered.
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B—I/E T1.LDevOpsHBMKER G /R RAMNE?

What is an advantage of having a DevOps team work together for a longer period?

A) B BRELHE.
The team does not have to improve the process anymore.
B) EIR\FIFRMEAI IR IR EIFFNUH IR,
The team uses their experience to innovate and improve the process.
C) BEIRNSFHAEIRIET(E.
The team will start working more independently.
D) BREESHAMETINGK.

There is time left to process unexpected requests more often.

A) iR, DevOpsEIRAEZHENH. XEFFEHUHIER. —MKEIS/FIEAEZAILIEBEithEE
BRSO,
Incorrect. DevOps teams are always looking to improve. That is what continuous improvement
is for. A team that works together for longer may even feel more confident changing routines
and improving processes.

B) IEffi. KEFGERIDevOpsEIMEASEARKAIFFRKFFIAECHIRR, BRIRZCGHEFNRE. (X
mh: A, 54.95)
Correct. DevOps teams that work together longer have the opportunity to use their
experience in future development and to deliver more quickly and innovate the processes.
(Literature: A, Chapter 4.9)

0) #HiR. —BETFAAERERNERINTF. IR ERTFESHMNER . MRItbzst, il
ZN\—THEMBSLERE.
Incorrect. Working together does not mean that the team works more independently. They
have the organizational mission to adhere to for direction. Other than that, they should be
self-sufficient from the start.

D) iR, RIBUAFMLTFDEIIAMR, IEFSEINERERZEDevOpsHRIBIR. BRMFINEF
PEIYRFHRNTRH . REBE T —NEEIPEFLIE,
Incorrect. A batch is planned with backlog items according to their priority. Processing many
unexpected requests should never be a goal in DevOps. The requests should go in the
backlog and be prioritized. Only then should they be taken up in the next iteration.
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BIRALA—EA—MNEAUEEE, SREIBAR.

PAEIRBIARSS, BRI S TUmRIGE?
The team works in one-week iterations and frequently encounters bottlenecks.
What is the best reaction of the team after they identify a bottleneck?

A) RIS R IRIERMRET

Eliminate the bottleneck as soon as possible after it is identified
B) REEARIFRIAIECEHA

Lengthen only the iteration in which a bottleneck is found
C) BREI—MRPRIERESEE SRR K/

Limit the regular number of tasks in a batch to reduce batch size
D) IZAAIMMCTRLARERIGR (WIP) PR

Use visualization tools along with work-in-progress limits (WIP-limits)

A) IEfa, MRREEISERANVRRFGERR. SHmERE, TFEETLIEREINEUERIRT
B, REXAAENL. (XEk: A, $F411EF)
Correct. Finding ways to eliminate the cause of the bottlenecks should be done as fast as
possible. When the bottleneck is eliminated, the work could even get done in the iteration it
was promised, although this is not common. (Literature: A, Chapter 4.11)

B) {HiR. EXMERT, XARLERRIIRES . ScrumTHBRIEIEEEA, 2AM, DevOpstl
ScrumEiFEEVHE. Eit, REAAEERIER FERKIEAEE.
Incorrect. In this case, that is not the best way of dealing with the problem. Scrum allows
occasional extensions of the iteration length. However, in DevOps there is even more focus on
establishing rhythm than in Scrum. Therefore, one should only extend the iteration as a last
resort.

C) iR, REMLRRI BT RAISERMNEE. AT, XPMI%{EADevOpssEAI—HaB5KLIE,
MAREFEIBRRBIRINZ f5 4 L.
Incorrect. Limiting the batch size helps to identify the problems causing the bottlenecks. It
should be implemented as part of DevOps practices, though. It should not only be
implemented after the team has identified a bottleneck.

D) iR, XBEITRAMRM, ENFRIFANRBIIRIZ 57 LE.
Incorrect. This helps to identify bottlenecks, but it should not be implemented after the team
has identified a bottleneck.
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{AIFHEFADevOpsH TR AT 22 SEUR TN KIE?

When can the use of DevOps for organizational and technological changes lead to chaos
and loss of control?

A) ZHEAZOI S SRR TSR

When the core business of the organization highly depends on information technology
B) HANBIEEFFEEMRIKEIR IR AR

When the organization is complex and wants to solve chronic problems
C) HERFERFTELIRFAEIARERIRET

When the organization requires rapid changes to test new business ideas or hypotheses

D) SBNEARNESERATUTL SIS

When the rate of change in the information technology used by the organization is high

A) &R, BzOUSEEKRBREERAR, B4R (B0z) FiaXiEDevOps,
Incorrect. Organizations (should) become interested in DevOps when the core business is
highly dependent on information technology.

B) IFffs. EEFRAIER T, DevOpstiEAIBEASHRASH G, BUAFEIERE. KEIRRRIENT
ZER, RYENF, ZEPEBR, T 1Z§£Dev0psm%’$ﬁ&ﬁﬁﬁ [ERRIGREEE.  (O#k:
A, FE515)

Correct. For complex situations, DevOps most likely will not bring much profit and will
definitely give no quick wins. Chronic problems should be solved carefully, thoughtfully and
judiciously. One should not just hope that DevOps is a magical cure for all problems.
(Literature: A, Chapter 5.1)

0) iR, HOWSHFEREZELAMAFHAIEIAIERRIZES, HR (WiZ) FiaXiEDevOps,
Incorrect. Organizations (should) become interested in DevOps when the main business
requires rapid changes to test new business ideas or hypotheses.

D) iR, JAREANERRAZTHERSH, HR (Miz) FiaXiEDevOps,

Incorrect. Organizations (should) become interested in DevOps when the rate of change
occurring in the IT used, is high.
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ANEIFEDevOpsHIREBRE.

NENZEH AR FFFaXiEDevOps?
There are many reasons for a company to become interested in DevOps.

When should companies become interested in DevOps?

A) SEELEANESHENN

When Agile practices do not seem to fit the company
B) ZEMhSLHTS AR B BRI FHALE SRAT

When no other method gives the necessary results

C) HHENEILMEScrumfliBRsLiEkZ 5

When Scrum and Lean practices have been implemented

A) BIR, EXMER TERBAIZARTGESBNIZIEEDevOpssLik, EBIELRAES RIS, =
i DevOpsLHBEARBIHAEMERTDevOps LA SITSEIERS, FEltDevOpsthA—EIER
FiZzEH.

Incorrect. This should be a trigger to seriously reconsider DevOps practices for a company.
When Agile practices do not seem to be relevant to a company, there is no harm in looking
into DevOps practices. However, since DevOps practices include many Agile concepts, DevOps
may not be for that company.

B) IFffi, SEHIIFTERMESIRIGEANNE, 28 (M%) Fia=iDevOps, BIEXAZF A
KFADevOpsLEARIEIRH, EESEREMBMUT AN, BXINiZEEDevOps, (3Z#k: A, 5B5.1
=)

Correct. Companies (should) become interested in DevOps when all other tried-and-tested
methods of increasing effectiveness no longer give significant results. Even though this is not
the best reason to start using DevOps practices, DevOps should definitely be investigated
when nothing else works. (Literature: A, Chapter 5.1)

C) $HiR. RBEYEFRISLEScrumiliEmSLk/E 4 FHADevOpstiy, Sk, 1FZDevOpssLBEMKIR
BScrumfiEmie. IXLSLHNZZEES. DevOpsiRBHRRFEEZ BRI RENRITTIE.
Incorrect. There is no need to wait until Scrum and Lean practices are implemented to start
DevOps practices. In fact, many of the DevOps practices will rely on Scrum and Lean concepts.
They should work with each other seamlessly. DevOps allows the company to choose
whatever works best in that company.
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HLIKADevOpshY, HARRESFEZBEIEME?

What can cause difficulties when DevOps is adopted?

A)

B)

9]

A)

B)

9]

i3: R | UN

Cross-functional teams
ERIMCHEARR(FERZR
Limited use of virtualization
HBRSSZEE

Microservice architecture

Him. DevOpsHIAZEEEREERY; 1HBEEREEHINSBLREDevOpsLikh— 1 RIFAIH im.
Incorrect. DevOps teams are cross-functional; having cross-functional teams gives
organizations a head start in DevOps.

IEff, DRRIMGRARIELRISHELALEDevOpssiik.,  (3ZEk: A, 585.15)

Correct. Organizations using little virtualization will have difficulties implementing DevOps
practices. (Literature: A, Chapter 5.1)

HiR. MIRSERE —EEBARDevOpsBAE, H[IRATEDevOpsLEH—>RIFAIF iR,
Incorrect. Microservice architecture emerged from a common set of DevOps ideologies gives
organizations a head start in DevOps.
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BRTRITFS R TR —SLARRI ZUR TR TR TR S,

EXMERT, BILATIAIRMADevOpsSLESIBE+A FME?

An IT system is still being developed and maintained by many employees as a single entity.

What difficulty with adopting DevOps practices can be expected?

A)

B)

9]

A)

B)

9]

2 EcDevOpsHNA R CE

Assigning DevOps teams to separate areas of responsibility

B FEERREFI A LAGM AR ZREEND

Creating cross-functional teams to work on the organizational structure
YHPRINR AR BIZ NAPILASSHL A E3RE

Maintaining and versioning multiple APIs for backward compatibility

1Eff, SChEDevOpsSEEAI—MNEAIRISEEMR, NIMESRIITRG, SINNEFAFZERESE T HE
AR ECARRIREEE. AERNIFMTICRITRS LB TEE AR R T AR SR T A TN4EFRY
BRT, BELUARRL TR MR E S TE.  (OZ8k: A, $5.18)

Correct. A significant obstacle for the implementation of DevOps practices is a monolithic,
rigidly bound IT architecture. Introduction of small teams requires the ability to assign a
separate area of responsibility to each of them. In a situation where the IT system in question
is still being developed and maintained by dozens or hundreds of employees as a single
entity, it will be difficult to separate parts for individual independent teams that work
asynchronously. (Literature: A, Chapter 5.1)

Hix. BEREEFIARSHICIEA IR,

Incorrect. There is no inhibition in the creation of cross-functional teams themselves.

Hix. KFABAKNAE, FRARIFENSEZFRMAPI, RAMKRS, FRARUVLIAEKAPIRIRE
SHYEFZNAPILIEIMAGEHRS. EAGF, FMIRSSIERSEE, FRAFAAEMEIRE. 1w, RE
DRt e — NRAITIRAES, ERAETIL, mETHEERATREIZERENCEDevOpssLE;
AIEE4t.

Incorrect. With a monolithic application, developers must only chnage the class name and API.
With microservices, developers must change the version number of the APl and maintain
multiple APIs for backward compatibility. In this case, no microservices have been
implemented yet, so this is not an expected problem. In addition, although it may require a
system for versioning, this is not a problem, but progress and an expected result and
ultimately benefit of implementing DevOps practices.
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VIR (COTS) RTIREREFIRIER, EATFFARNEHIGREFEERA.,

SF COTSHN AW —IREERA?

Commercial off-the-shelf software (COTS) is used to quickly get the results needed,
because it takes time to develop custom software.

What is true about COTS?

A) COTSEZEEH, HERMARERERSR.
COTS requires customization and scripting to configure the system.
B) COTSMOZRT iRl 554k,
COTS should be used to support strategic business lines.
C) ERMARE—REINRE.
Using ready to use software is generally more flexible.
D) RN EEEFEESS.

Using ready to use software is usually much cheaper.

A) IEHi, ERMANESTLUERBIERY., B2, TeFERE, MERERFNFENE. (OE:
A, Z5.25)

Correct. With scripting it is possible to configure this kind of software. However, there might
be limitations and configuring the system still takes time. (Literature: A, Chapter 5.2)

B) 2. FAKIITSERSISERISE. HWASSETIX—a (ET) NLERE, BNAE
BCOTSAT R S52L,

Incorrect. Off-the-shelf software will not automatically support strategic business lines.
Scripting will be necessary to make that possible (if it is possible at all). It is recommended not
to use COTS for strategic business lines.

0 iR, BIIRRIHARAIREIREE. F RS ETREN BB A TRE.
Incorrect. Commercial off-the-shelf software is always limiting flexibility. It is not always
possible to configure it the way the team wants or needs to.

D) iR, BCEIMERUREN R, XEWREIINLIFEMEINERA. tHh, BWLRREIMMETRETE
SEHR.

Incorrect. Configuring such software will take time, which means extra effort and extra
expenses. In addition, the value the business actually needs may not be delivered.
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UM ER R TSRS ARXE?

What is a difficulty of a rigid or monolithic IT architecture?

A) BEERFFRI TSR BRMEME

Changing and developing the IT architecture itself is difficult to do
B) 1EXZRNAIIRSS BB 5T

Modifying services within the architecture is done independently
C) EAEAZERIMARIER FEMEFRA

Updating to a new version without disabling the current version
D) FHEMBHNERMEHTARIRTR

Waiting for all components to be ready for a large-scale migration

A) IEff, XENNMEITREAFENRR, RO ANIMEEE, SEEARNEHEEE, BN EEXMSE
XIZRINELRI D TR,  (OLER: A, 55.35)
Correct. This is a problem of a rigid IT architecture. The larger and more rigid the architecture,
the more difficult it becomes to change anything, whilst still seeing what that change does to
the rest of the architecture. (Literature: A, Chapter 5.3)

B) &R, XREFRIBRSZE. SFERSETLIRIENET, REFEEBRIM,
Incorrect. This is a solution of the problem. When all services can be modified independently,
the architecture is no longer rigid.

C) iEiR. BIEZRIIAENIMY, XBIER—1 Bk,
Incorrect. This can be a challenge even when the architecture is not rigid.

D) iR, JBHATARURTRES, ITREHA—ERZRIMEN, FREEHENIZALURITER, XAJERERE
HARERYITERA R,
Incorrect. It is not necessarily rigid when a large-scale migration is done and all components
should be made ready for that. This could happen in any type of IT architecture.
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EWERBE N FIEFERTZERRIDevOpsshly, WRH X TZARRE T, fEYR
HEIRTZERRIFIEEE.

A AKX R—MNFER?

It is recommended that organizations customize and select DevOps practices that work in
that organization. Organization-specific questions must be raised and organization-specific
answers must be found.

Why is this a good idea?

A) ENEXRDevOpsHIHIRMFAAFBESRRMABLRARISEIMER, TR/ REMEFLY
Because DevOps publications do not always reflect reality and underreport difficulties and
failures

B) FENIXZEmA—AIZRERLIEDevOpsiIDevOps TIEIPATIRIE
Because that is the way to become a DevOps engineer that can be hired for implementing
DevOps

C) AXNEER& T HIMIEEBLNFLEDevOps
Because the management teams know best how to implement DevOps in their own
organization

D) EJ9XTF DevOpshIt R liENT M MITEFAIRIZATE N
Because there are too few publications and events about DevOps to form independent
opinions

A) IEf, BARSECIHA ARG LA AL A BEH R B EMERR ST S, TR ERIIER

FARRERERBRAEEIEEEE., (O A, $5.68)
Correct. The overwhelming amount of literature does not necessarily prepare the team for all
struggles and failures reality may pose. It is important to filter your information and see what
applies to the organization’s situation most. (Literature: A, Chapter 5.6)

B) 3HiX. DevOpsFiX"skiE”, tRiIARAIZIMAITHAGRF.

Incorrect. DevOps cannot be implemented and there is no engineer that can be hired to bring

the new order to IT.

O iR, Bk, BIFSHRYALERT LS ARMERE.

Incorrect. On the contrary, there are many publications and events to help the organization to

decide.

D) $HiR. AMFEXLEDevOpsIX—ijtiE.
Incorrect. There is no such thing as implementing DevOps.
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—MALIREIEEITEMIS, t(IHEFERMADevOps,

EZRBRD, BEURMERMTA?
An organization has a legacy IT infrastructure. They want to start with DevOps.

What is a common approach in such an organization?

A) TR DevOpsEAMM T mLlE, LB
To start implementing DevOps as a software product, install it and start it
B) FaRRAEMHUTERFIFIRNHAIER K
To start with a basic pipeline that performs at least assembly and initial testing
C) BRERMMUI s m
To start with a selection of the product with the greatest opportunities for optimization
D) BLRBIBLSHEMMRFINBENRER
To start with identifying those systems that are loosely connected with others
E) B Ec—EttBIN TIER AR THuH

To start with the allocation of a certain proportion of working time for the improvement

A) iR, DevOpsAZaI ARSI 5.

Incorrect. DevOps is not a software product that can be installed and started.

B) iR, XARF1RKFADevOpshIyszl, MR BaMtalimEboEE I E R YE.
Incorrect. This is not an approach to start with DevOps. This is required to proceed with the
building of the deployment pipeline for the part of the stream that can be automated.

C) $HiR. XRAHNERERIT %K.

Incorrect. This is the start of developing the value stream mapping.

D) IEffi, DevOpsaJLAMIEEIMNERFFE, e WILRAE, RBINBSHNARRE 2. (O0k: A,
555.6%)

Correct. DevOps can start anywhere, wherever the business is now. Identifying loosely
connected systems is the first step. (Literature: A, Chapter 5.6)
E) iR, XERARSEX.

Incorrect. This relates to the technical debt.
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